UNITS 21+22  – MOCK TEST

True or false?

1. Sales tax is a state or local tax based on a percentage of the selling price of the goods or service that the buyer must pay. It is not revenue to the seller, who simply collects it and passes it onto the state or local government. T/F

2. Inheritance tax (BR) is a term equal to estate tax (US) or death tax (US, infml). T/F

3. The past form of the verb “occur” is “occured” T/F

What´s missing? Complete a missing word using the prompt:

1. The government raises most of its revenue from _____________________T taxes such as VAT and duty on fuel.

2. The target of the takeover bid is a firm which is not _____________________D on a stock exchange. 

3. Corporate _____________________RS try to take control of a company by buying a large number of its shares. 

4. _____________________N is another word for a job or profession.
5. While economic liberalism favors markets _____________________D by the government, it maintains that the state has a legitimate role in providing public goods.

6. Many investors  _____________________Y from shares into bonds and commodities.

7. When a person or an organization buys a company with a large amount of borrowed money, using the assets of the company they are buying as collateral in order to obtain the money, we speak about __________    ___________T.
Definitions: Find an appropriate expression matching the following definitions:

1. ______________________ is a tax that is added to the price of many goods and services.
2. ______________________ is the act of moving money that has been obtained illegally into foreign bank accounts or legal businesses so that it is difficult for people to know where the money came from.

3. ______________________  is a small mistake in the way a law or contract has been written that allows people to legally avoid sth that the law or contract intended them to do.

4. ______________________ is the extra power, success, profits, etc. achieved by two or more groups, people, companies, etc. working together instead of on their own 

5. ______________________ is the practice of buying a company which is in financial difficulties at a low price and then selling everything that it owns in order to make a profit, without thinking about the future of the company.

Translations:

penzisté – 
likvidace chemického odpadu – 
daňový úřad – 
nabídka služeb podléhá DPH – 
sociální zabezpečení - 
jednat v souladu s předpisy – 
široce dostupný – 
oprávněný nárok –
vládní činitel –
odstranit omezení – 
příjem, který zbude po zdanění – 
naléhavá potřeba – 
zapojit se do –

namítat/ohradit se proti přizpůsobení se těmto praktikám –

Prepositions/adverbials:

1. A tax paid __________ property, sales transactions, imports etc. is an indirect tax . 

2. Tax avoidance means reducing the amount of tax you pay __________a legal minimum.

3. The company’s claim __________the oil fields has been contested*.

4. The EU has laid __________tough standards for water quality.

5. All fireworks must conform __________ British safety standards.
6. There should be fewer restrictions __________trading, not more.
7. The court heard that the six defendants had been coerced __________making a confession. 

8. The questions had been asked prior __________my arrival.

9. The company will have to sell __________assets to avoid bankruptcy.

*to contest = to object to
